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Note: (i) Candidates should answer all the questions in PART - I (Objective type) (1 to 75)
in the separate OMR Answer Sheet supplied. (Refer instructions given in the
OMR Answer Sheet).

(ii) The number of the sign “mm’ (dash) as found in the right - hand top corner of the
Question Paper (i.e. [mu] (1) or [wm m=] (2) or [m= == wmm] (3) or (4)
should be shaded in the OMR Answer Sheet using HB Pencil.

(i) Time allotted for answering question numbers 1 to 75 is first 75 minutes.

(iv) PARTS-II and III questions (76 to 110) should be answered in the main
answer-book.
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L@ -1/ PART - 1

Has sfures efeoLws Caimbs®ss GPLIGOS : 75x1=75

Choose the correct answer :

Hupg@aGurG LwauESsUUGLD e &L iguferm Quwir
(A) RemoveFilter (B) Auto Filters (C) Default Filter (D) Sort Filter

Filters used with condition is called :
(A) RemoveFilter (B) Auto Filters (C) Default Filter (D) Sort Filter

Cin eremp QuIr@eertUDHL SiHlefliLjser GemelHd s smeliys Carlide
vl (hereren ?

(A) stringh (B) stdio.h (C) conio.h (D) istream.h

Under which header file cin objects are included ?

(A) string.h (B) stdio.h (C) conio.h (D) istream.h

SQL-6t1 efMeurésd
(A) Structured Query Language (B) Structured Queue Language

(C) Structured Query Link (D) Structured Query Line

The expansion for the SQL is :

(A) Structured Query Language (B) Structured Queue Language
(C) Structured Query Link (D) Structured Query Line

Qemeumd erhs (peDUlled (pepmuiTe SjerLmEsaid Qeuiiu@b eaThs LOTHHPLD
Quiwurar SjerLmésafled 197SHueilé@n? '

(A) WAL apeld DPESE (B) Quuiwimer ieTL(H&&eET
Q) GILY apeld DMPES (D) apenaflueL] GEwei(BLiseT

In which method any change in the formal parameter is reflected back in the actual
parameter ?

(A) call by value (B) actual parameter
(C) call by reference (D) default arguments
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%
aris @aaiieu Caital Galigl @ Hovgiedepig @eabartm HAdRIEE cfllenyedie
Q&sevemDd?

(A) Format—Navigator (B) File—»>Navigator
(C) Edit—>Navigator (D) View—Navigator
Which option is used to move one slide to another slide quickly ?
(A) Format—Navigator (B) File—>Navigator
(C) Edit—>Navigator (D) View—>Navigator

vwerari GaemausCanu sreyssearsdedlmbal sreysmard Qararh Csr@ssuLILL
sHaIOSMmaT SFALL augeile) aIpmIGaImS ereueurm ienpSSGMD ?

(A) eflemaue (B) <Mses

(€ sy flsoms (D) GHuY AD&EHS

The printed information that is assembled by gathering data based on user supplied criteria
is called :

(A) Query (B) Report
(C) Handout report (D) Notes report

maneus (waeuflenws gH@LD WwrHl 6Tl ?
Co ) &l

(A) ereromHl (B) &L_(Hom

Q) erfloeu (D) GO o
Which is the variable that holds a memory address ?

(A) Numeric variable (B) Pointer variable
(C) String variable (D) Character variable

C++ Quomf wrpred e HeurdsUuLLgl ?

(A) Gegirerr evL_GFeTevL Ul (B) Lmei 19M&ef e
(C) Qrenaflev AL (D) Mg wrevliig
C++ was developed by :

(A) Bjarne Stroustrup (B) Don Brincklin
(C) Dennis Ritchie (D) Rick Mascitti

[ Sigsluuis/ Turn over
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10.

11.

12.

13.

4

Float num [4] [6] eTetTn iewfludes emey eremen?

(A) 96 bytes (B) 86 bytes (C) 24 bytes (D) 48 bytes
What will be the size of the array float num [4] [6] ?
(A) 96 bytes (B) 86 bytes (C) 24 bytes (D) 48 bytes

R SLLeumew SreailH@Ger o (Hardeny 2 (Heurdsl LweTu b Liamnf:
eTgl ?

(A) Insert plug - in (B) Insert chart

(C) Insert OLE object (D) Insert Floating Frame

Which icon is provided to generate a scrolling screen within a worksheet ?
(A) Insert plug - in (B) Insert chart

(C) Insert OLE object (D) Insert Floating Frame

SldPpls ampldlphbg dewdsmbl@sen, QeunamBldmbs <imp!
sEOOIHGL srejsaisr umielbE g aufls. msamil S@wéng ?

(A)  AeTmEs6T (B) &rel 2 muiLsar

(©) Qewn@dser (D) Qewphammiser

Which of the following are the channels through which data flows from the call stateme
the function and vice versa ?

(A) parameters (B) data members

(C) operator (D) function

Blewssama HTML eulgauirés LweTLBD @lenanrlin) ergl ?

(A) HTML—Export (B) File—>Export

(C) File>HTTP Export (D) File->HTML Export

Which command is used to make a Impress presentation into a HTML presentation ?
(A) HTML->Export (B) File—>Export

(C) File->HTTP Export (D) File-HTML Export

Tl HIe AL Sieg srey Aupbd Gewh@H < En ?

A e e A D) <=
Which operator is the extraction or get from operator ?

g By <= 1 (D) <=
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é%’a‘fsu@m e gemamuwenur(® @6 - gafls sTL8s Carliysailan Siemwe|smaers
sLHULBHSS 2 s flemmer ?

(A) plug-in (B) SQL ©) I-IT;FP (D) Hyper link
Which helper application can be launched by the browser to help play sound or video ?
(A) plug-in (B) SQL L0 6 (D) Hyper link

TS Qrmedl, 2 driomiasem, Geualinmsd Curarn Aplius srésmsmen WaaI@BLD b
QuenQurmener Cl&Tam(H 6UlqeUMDESEMD ?

(A) Digital format (B) Sound program
(C) Sound Forge (D) Digital sampling
Which editing program is used to add echo, fade out, fade - in effects ?
(A) Digital format (B) Sound program
(C) Sound Forge (D) Digital sampling

Gemeu(mLd eThs eued QuTgleuras seuprad s L&s ealwulu@ Cerhaemar orHml
sflwrer Ggrédeney @HID.

(A) Highlighting (B) Editing (C) Auto correct (D) Spell check
Which option is very useful for correcting the spelling of the commonly mis-spelled words ?

(A) Highlighting (B) Editing (C) Auto correct (D) Spell check

Gemeumd  erg  Hrdld LwaL@ESSMSNEG @aLTs  ISiPlelssuul (B
auerumdsiLL. Ceauar@Hin ?

(A) iU spo (B) wmled

© wHLAGSS SDD (D) wrdl

Which of the following must be declared and defined before they are used in a
program ?

(A) calling statement (B) constant

(C) assignment statement (D) variables

[ SLiys/ Turn over
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18.

19.

20.

21.

22,

6

B QUITSSTEOE A(PSHanTed erssGmp Hmegd e amyurLe QL
Cgrenmib?

(A) F7 () F1 (C) F5 (D) Fi1
Which key is pressed to select the spelling command ?
(A) F7 () F1 (C) F5 (D) Fi1

Data erenm Qaméd Gemaumid eThg Qereeladimbg eubssl ?

(A) Data (B) Datum (C) Base (D) Datas
The term data comes from the word :

(A) Data (B) Datum (C) Base (D) Datas

graysser i Leuamenuille geubleun(s QpHeuflensuyb ereucurm) iLP&ESILIHE

(&) yeid B) srejums (O ufle (D) Gsmiy
In Database each table column represents :
(A) Field (B) Data type (C) Record (D) File

Werallgeuamngs Ligeunismard (template) Qarewr(h HsRESMmE 2 (Heue
LweTU@D QUITSSTETSHET eTenal ?

(A) shift+O (B) shift+N

(C) shift+ctrl+O (D) shift+ctrl+ N

Which keys are used to create a new presentation using template ?
(A) shift+O (B) shift+N

(C) shift+ctrl+O (D) shift+ctrl+N

Char sreflangélen bl LS ereuaiare ?

(A) 0 to 255 (B) —128 to 127
(C) —32768 to 32769 (D) 0 to 65535
The range for the data type char is :

(A) O to 255 (B) —128 to 127

(C) —32768 to 32769 (D) 0 to 65535
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24,

25,

26.

27,

28.

7 3133
el gm LGS ®HS! @enQent LEGHEES STAUSDEGS STTaTLOIEN Blyed
FHMBET creuauTy SAmPEsLLGElanpern ?

(A) Corpbs®LY (B) LL&ES .

(C) sLGuri(p sLLemwoll (D) wHLEABSGID FaDO)

Program statement that cause a jump of control from one part of a program to another are
called :

(A) Selection (B) Loop

(C) Control Structure (D) Assignment

GIF apenp eréseman senrentl cuamanss. (b SeUEADEGET LB ?

(A) 16 (B) 8 () 52 (D) 64
GIF is limited to how many bits of palette ?
(A) 16 (B) 8 (C) 32 (D) 64

StarOffice Writer-é0 (5 euflensenit L euanemruden Quéuid Gerés Gamal(HD
s QuIssTaner LwaU(hss GCaiarBo ?

(A) Shift + Tab (B) Space bar (C) Tab (D) Escape
Which key is to be pressed to add a row in the last row of the table in StarOffice Writer ?
(A) shift + Tab (B) Space bar (C) Tab (D) Escape

(poEsTEmS Qws@E srddd LLuUGEELD Qewpsnm eTgl ?

(A) strlen () (B) strcmp () (C) strepy () (D) streat ()
Which function copies source string to target string ?
(A) strlen () (B) stremp () (C) strepy () (D) strcat ()

C++ QumPfuie, o8 smeTssiLLL greiland e ?

(A) ojanfl (B) Careneu (C) Qewmnaam (D) sreflend
Which is a derived data type in C++?
(A) Array (B) Expression (C) Function (D) Data type

Quick time Lilgeuld 6THS HNCUMTSSTE 2 (HUGSUILILLSl ?

(A) Microsoft (B) Real Network (C) Apple (D) Macromedia
The Quick time format was developed by :
(A) Microsoft (B) Real Network (C) Apple (D) Macromedia

[ Hmyss/Turn over
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29.

30.

31.

32.

33.

8

Spsar_eupdler erg StarCale-é0 LrFfead® @uss ?

(A) & (B) % © ! Es=
Which one of the following is the reference operator in StarCalc ?
(A) & B) % ) ! (D) <>

g QsdCGudl epod Qeudsmer Sg@lue|b Gupejbd vweTu@d
Qen@ummHET G ?

(A) MMS (B) SQL (C) RMS (D) QMS
Which application allows you to send and receive messages over cell phones ?
(A) MMS (B) SQL (C) RMS (D) QMS

Dereumid erg eréver Hogisaigid eurCeauamrgu Weararanlls sldsmer G
2 56/8lmg! ?

(A) Layout (B) Master page

(C) Custom animation (D) Slide Transition

Which one of the following is used to specify basic background information :
slides ?

(A) Layout (B) Master page
(C) Custom animation (D) Slide Transition

aiflenssEpd OpQaflass@En Gnsd@En Curg deara@®Bb 6
2 (Heum@dlerm e ?

(A) EBIETERTE®D (B) eufflens

(CQ) SILLeuemanTSSmer (D) wewill e
The intersection of rows and columns creates :

(A) Cell (B) Row

(C) Worksheet (D) Task bar

g @@ GNUALL QewupuriyLer sagw SHETTY Ceran @@ ums &
Blred @ ?
(A) QasEw (B) Gummer (C) wryflwb (D) s&rey

Which one of the following is a kind of a self - sufficient sub - program with a specific func
area ?

(A) class (B) object (C) inheritance (D) data
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GG (GG UMS SWBISTT T(PSGISESmeT ClGTaEiq(HEEGD?

(A) Wingdings (B) Fajita

(C) Times New Roman (D) Symbol

Which type of Fonts are decorative ?

(A) Wingdings (B) Fajita

(C) Times New Roman (D) Symbol

StarWriter-& &l Golliysemenuybd, Qaidsamarud suflemslihougsne Wearalmo

erenal LwearU(HidsuL®pag ?

(A) Lol (Nsar wHmib erameutlens

B) sraflwhg sfGeaub

Q) udulisge

(D) uss @evsa

Which is used to list the important points and message in StarWriter ?
(A) Bullets and Numbers

(B) Auto correct

(C) Editing

(D) Paragraph alignment

StarCalc-é0 Auto Format Ui igenwi Cairey @Qeawn Gemau(pid eThd Ullg LwetuGES)?

(A) File (B) Edit (C) Table (D) Format
Which menu is used to select Auto Format option in StarCalc ?
(A) File (B) Edit (C) Table (D) Format

StarWriter-e0 1p(p S Leuemanianil $&a6 eThs s L emarerw Lwetuhss Ceuam@in ?

(A) Table->Delete—Table (B) Delete—Table

(C) Table—Delete—>Rows (D) Table—Delete—>Column
Which command is used to delete the table in StarWriter ?

(A) Table—Delete—Table (B) Delete—>Table

(C) Table—Delete—>Rows (D) Table—sDelete—>Column

em udeilan Leomsmer poe Gl QeualGur® sr_ (b Sy erg ?

(A) <siDsans (B) eSlemeucy (C) ugeud (D) <=L euenaemr
Which is a screen that displays the field of a record in a well - spaced out manner ?

(A) Report (B) Query (C) Form (D) Table

[ HpLine/Turn over
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39.

40.

41.

42,

43,

10

Caupuil AelidleseErss wrpul’ (G Geudu®b em Qurmeailar Sper e
2@pssuuUBEDg ?

(A) UORIHUTHELD (B) ec.ewp@urliumgsbd

(©) srey wepLLY (D) 876y Si(HEULDTESLD

The ability of an object to respond differently to different message is called as :
(A) polymorphism (B) encapsulation

(C) data hiding (D) data abstraction

Apple-ll ererp safllu@Qurlésrs sarGUussliulL 9 L_aumans Q&
g ?

(A) Lotus1-2-3 (B) Visicalc (C) Excel (D) Improve
Which Electronic Spreadsheet is invented for Apple-II computers ?
(A) Lotus1-2-3 (B) Visicale (C) Excel (D) Improve

@M C++ flyed ardsenan Wfleysamer Qeran(Hererg ?

(A) @rew(d (B) pren ©  epeny D) Bbs
How many sections are there in C++ program ?
(A) Two (B) Four (C) Three (D) Five

hsssme (P ss arhs Gurssrea deoflé Qe Cauam@n ?

(A) Delete (B) Home (C) Escape (D) Tab
Which key is to be pressed to end a presentation ?
(A) Delete (B) Home (C) Escape (D) Tab

Yenalpd eTal @5 Sreldser =il Leuamanulenr @ uSme galssaranGiL
GIIEED G0 SneGasrorEh?

(A) @rarimb fleoew FpeiGaréd (B) wsemaw HneyCsmed

(C) yeoliuarLy (D) 858 SlpeyCared

Which key uniquely identifies the records in a database table ?

(A) Secondary key (B) Primary key

(C) Field property (D) Tab key
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46.
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%
!

e Hlrede o crer &AM salss 0G T8l ?

(A) (B) mmledl

(C) oSevewesar (D) Spuys Cermseer

Which of the following is called a smallest individual unit in a program ?
(A) Variable (B) Constant

(C) Tokens (D) Key words

StarOffice Writer-e0 aSlL_(h aS1_() Carermid GBHWLUL L. eTeuaITm HDLP&HSL
LR &g ?

(A)  usHudenr @mis (B) O&m@b uleL
Q) &l (D) Q&mEL @L b
In StarOffice Writer the flashing Vertical bar is called as :

(A) End of paragraph (B) Insertion bar

(C) Mouse (D) Insertion point

Qermeu@pd 678 @DaDEGETUL Sreussasin@ aHSSISST LTG0 ?

(A) <L e CGgwa (B) 260 <46U6mTLD
(©) Hapssse (D) evLmi Lgmw

Which one of the following is an example for Flat - file database ?
(A) Spread sheet (B) Text Document

(C) Impress (D) Star Draw

StarWriter 60 (1§ 260D 2_6T&eTened (panmudled e erdlit erevorenanr Liwer(BdSlermed
GG 2 (HeUT@GiD ?

(A) QLgl o dTseTaTed (B) 2 @Tg6Temed

(C) Qgrmi@b 2 eTgereTe) (D) GuUeLE 2 ETHETETED

In StarWriter, what will happen when negative value is used in indenting text ?
(A) left indent (B) indent

(C) hanging indent (D) right indent

s Qewnenn GCaisores QeweU@D, e 2ifs Hloaas QLims erHSHs
& meT(@EnLd?

(A) Online QewpHeam) ~ (B) Inline Qswphanm

(C) o muys QEwHamm (D) wslubel Qewmnenm
Which function execute faster but require more space ?

(A) Online function (B) Inline function

(C) Member function (D) Void function

[ Smliys/Turn over
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49.

50.

51.

52.

53.
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erepay g LrHludles LeDHS SLsED cumTblceneaeiLl Qeuefls Q&memT(HLD

(A) &G wrl B) euengbluwicenad wr
©) euerQueeame ClFlis (D) ¢xmw GQewpHsam
Which of the following reveals the hidden scope of variable ?

(A) pointer variable (B) scope variable

(C) scope operator (D) wunary operator

StarCalc-é eufflens eramenflen pemLjd Qp@eufles sealiden e 14
crang QasrHULSEN epOLD R BeTaTeD SalbHS wseufll QETeTLSTs LIY

(A) & (B) $ (" (D) %
Which sign is to be used in front of row and column to make a cell absolute in Star
A) & (B) $ < (D) %

oL 2ol Qe sTESlD Cadleou GHLGL 2 ga|b Ligeuld

(A) YY/DD/MM (B) YY/MM/DD
(C) DD/MM/YY (D) MM/DD/YY
Which format is used to represent the date data in StarCalc ?
(A) YY/DD/MM (B) YY/MM/DD
(C) DD/MM/YY : (D) MM/DD/YY

StarOffice Base-60 GTESSENET GUEDEHUITG L|e0GUGnSEET 2 ETemen ?

(A) 20 (B) 14 (© 13 (D) 16
How many types of fields are available in StarOffice Base ?

(A) 20 (B) 14 (C 13 (D) 16

a5 QurggTen QEBHED LeTenéE euagl LSsSSD 2 arer TPSHISH®ET
(A) Delete (B) Backspace (C) Insert (D) Home

Which key deletes the characters to the right of the insertion point ?
(A) Delete (B) Backspace (C) Insert (D) Home
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£Cp Qan@ssriL L Brene LgSs 54 - 56 Caeella@rsd efSlen_weflasa|b.
Read the following program snippet and answer the quéstions from 54 - 56.

Class student

{
private :
int roll_no, markl ;
public :
student ()
{

cout << “\n constructor Executed” ;

}
Void accept ()

{

cin >> roll_no>>markl ;

b
54. Qar@astiulL Hlyéd Qsr@dHuder 2 erer sdlullen GLwi ererer ?
(A) accept (B) roll_no (C) markl (D) student
What is the name of the constructor ?
(A) accept (B) roll_no (C) markl (D) student

55. @ensEpelen GuwiT erewme ?

(A) class (B) student (C) accept (D) public
What is the name of the class ?
(A) class (B) student (C) accept (D) public

56. Qar@asiul L Blyadle, e miy Gewpsmdler Guwim ererer ?
(A) roll_no (B) wvoid (C) accept (D) markl
What is the name of the member function ?
(A) roll_no (B) wvoid (C) accept (D) markl

[ HiwLiys/Turn over
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57.

58.

59.

60.
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Curellwrer euer@ur@mer, GQuerQurGearsamer UWaTUHSSUSHEE QuwT
ereste ?

(A) year 2 el _SHe (B) e flenLufever pHTEED
(©) sre Cuereareno (D) sexflLGlurd Freurssid
Using duplicate hardware and software is called :

(A) Cracking (B) Piracy

(C) Data management (D) Digitization

RO Qs srarmi@m Lweturl (@ aumbCurg aps Apliy Qewpamm
QuissuBSHng ?

A) <idud (B) =254

(C) void Qewhanm (D) inline QEwnHam o)

Which function is invoked when an instance of a class comes into scope ?
(A) destructor (B) constructor

(C) wvoid function (D) inline function

uenflilfl@ssiuL @igwrs Qewnsn erg ?
(A) GQewphaam) (B) =464 (C©) <l (D) Qewp@EM
Which function cannot be overloaded ?

(A) function (B) constructor (C) destructor (D) operator

srasametuild Cewpsmmeaerujd qarm GCorssy @neon 2 HOUT@EeTTL
s lgemeuliLieng ereueuTn empsSGpmd ?

(A) grey wenmlil (B) eapurdlurssd

Q) @earsEw (D) UOUHEITESLD

The binding of data and functions together into a single entity is referred to as :
(A) data hiding (B) encapsulation

(C) class (D) polymorphism
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62.

63.

64.
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smelldsliul L @f Qasguaea gluaLwrss Qsrar® @atarmm
FHelEsLLLL. QansEpemel 2 (haITEGag reaumn inssiu@dng ?

(A) e auldl wryflowd (B) &y wryflwid

(O ue Blene wrLflwid (D) we eul wryfwb

When a class is derived from a class which is a derived class itself is referred to as :
(A) Single inheritance (B) Hybrid inheritance

(C) Multilevel inheritance (D) Multiple inheritance

2P a5 GPleow (penQeanT L s CasTaniy (HEE@GL ?
(A) + (B i i ey, = D) /
Which symbol is used as prefix in destructor name ?

(a) + (B) * © - ®) /

@f 2 iy Qeubneamdlasa@ em GUTmHeneT aTLMHESaTTS g nlameussiiu{Hin
Curg) Yeneummd erg QussliLHEng ?

(A) Bae 258 (B) sranenoe &

© <ufad (D) ey THGD 25H

Which is executed when an object is passed as a parameter to any of the member function ?
(A) copy constructor (B) default constructor

(C) destructor (D) parameterized constructor

srajsmer Callgg meuds wHmid Goeraran Caliw 2 seyeug) erg ?

(A) Hevanays slLsW (B) CprCursser
(C) sreys srUUSLD (D) usss 2wl
Which is used to enable data storage and management ?

(A) Memo frame (B) Robots

(C) Archive unit (D) Book shelf

[ HLiys/Turn over
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65.

66.

67.

68.
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o mULE Clewnsmm ppald 196aTeHL THS QewpHEGHew Ll @aEEn Curgl
Gl QauaftiLenL & Qaugimey W HGW @D ?
(A) w0 (B) (pidw © Qow (D) Hupgeae

Which one of the following operator overloaded through a member function take one explicit
argument ?

(A) Unary (B) Ternary (C) Binary (D) Conditional

craTauans @ETOTHDLD (PUHSS WPp&s TS STTHSSI ?
(A) @enorHmd (B) IHlyev Quuwirnd
Q) tpos&EGHyp®D (D) GsLPsD
Integral promotion are purely :

(A) type cast oriented (B) compiler oriented

(C) source file (D) function oriented

WD(HSSIGUL QUITLILTEIEHTLD GTHSEET Lig Fleneugenard QarenTLgl ?
@) Qran® (B) peoQ ©) &bsl (D) <=0
How many steps are involved in Medical Transcription ?

(A) Two (B) Three (C) Five (D) Six

sanQum Lwetur@sefleo  arggear g5615D Qerp@euIe@rEsD
Lwetu@SsILGEDS ?

(A) 85% (B) 65% (©) 70% (D) 50%

The percentage of computer usage in Word processing is :

(A) 85% (B) 65% () 70% (D) 50%
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Ct+ &, erg) WarailweLmar srer Hlapeuimig ?
(A) Public (B) Protected (C) Private (D) Unprotected
In C++ the default visibility mode is :

(A) Public (B) Protected (C) Private (D) Unprotected

Qegl sidg sreflmar getmé@ CuHur L allyemsaie) Cewerssealde
Qewpsmdlen Smever ereseury eiewsHCDTD ?

(A) Gewpsam veliGLY (B) Gewp@P LailbeEoy
© <=flid ueflblgly (D) srey vaflflgly

The ability of the function to process the message or data in more than one form is called
as :

(A) function overloading (B) operator overloading

(C) destructor overloading (D) data overloading

S7e| 2 MULSEET GTEUGUMD HEnLOLILIT ?

(A) euflwperpser (B) Qewmsnmsar

(©) uewry smmser D) epuy Qewpammpeser
Data members are called as :

(A) methods (B) functions

(C) attributes (D) member function

THS HTe| 2 MULSET pFhd QUImET 2 (hourssliu@id Curg 0 eremm QsrL&s
wgluemu Qumib?

(A) static (B) auto (C) extern (D) register

Which data members initialized to zero only when the first object of its class is
created ?

(A) static (B) auto (C) extern (D) register

[ g/ Turn over
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73.

74.

9.
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sULLypbure (peppudld @ sanuQurd peperulled g G enamrigSled
HEPEUMS GreueUTn SIenPUUT ?

(A) SepliLsed ewid (B) sefLGQuUTD Sreurssid
(C) =TT 2 LS (D) B&S Bl

Which is the illegal access to the network or computer system ?

(A) call center (B) digitizaion

(C) cracking (D) virus

Sgmdwdy eiemrupldien ereueuro SIDPEHSHOMD ?
(A) srewr Hlepey LITBIE (8) wryflow

(C) uaryeaitss (D) sEHWTES
Access specifier is also referred as :

(A) visibility mode (B) inheritance

(C) qualifiers (D) modifiers

GOUEALL cuTg&emawmeTt CranaussTs QsTaaGuél eiglumLule S|MLOHS
Cseau LITa] WD eTarlgl eTgl ?

(A) Sempliygeil Wb (B) Geemeueniowild
(C) Gewiewwo Lyomofliy (D) sefL@QuTD SreuTésd
Which is defined as Telephone based shared service center ?

(A) Call center (B) Service center

(C) Service Management (D) Digitization
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L@FI-11 / PART - II

aCaseid Bmus sSlennasEnsE WG efenL_weflsab : 20x2=40

Answer any twenty questions :

2 UGS 56 eremmmed creven ?

What is meant by Text editing ?

S®OLUIL| GTETHTE) GTesme ? R BySGHUGD LSS cTamTsamarT 6T 6L GU )]
U@SGeums ?

What is header ? How will you insert page number in footer ?

Auto Fill &L_L_ener eremmmed reenr ?

What is meant by Auto Fill command ?

Codlé samsS® erempmed crevan ? ThS5ESTL(H H(Hs.

Write a note on Date arithmetic with example.

upLe euflenswirésd eremmmed eremen ?

What is meant by Multiple Sorting ?

eflaneugIs @D, cugsLIgEED o drer Ceumiuir® eremar ?

What is the difference between Filter and Query ?

2 (Hh&GMOSHD GTEIDIC) GTEITT?
What is Warphing ?

Shockwave Ligaib - @AY cuemys.

Write a short note on Shockwave format.

[ H®Liys/Turn over
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84. Handout view &lm GOILIL| cUenTS.

What is meant by Handout view ?

85. @&das Corb (Rehearse Timings) GTEIMITE) GTeder ?

What is Rehearse Timings ?

86. Qum@meT - eueTL D

Define object.

87. Apliyé Qerhacr erenmred ereven ? T(H&SESTL(H S([HS.

What is meant by keywords ? Give example.

88. Q@@ameuanyweD SLLeneT SienLIenL eTr(PH 2 STTEILD S(HS.

Write the syntax of type definition with example.

89. ueaTyenigSuden eflenaToyser wWrenes ?

What are the impacts of modifiers ?

90. DL &@ET GTEImIe) erevar ? SEUDHNIET EUNESHEET 6T (LPSIS.

What is loop ? Write their types.

91. Inline QewmHamm GUTWLIDI.

Define Inline function.

92. e Lfloran oefluflean sLLear Ll TS 2 STTID S(HS.

Write the syntax for single Dimension Array with example.
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93. &rmseflen e CTGUDITED GTetren ? ThSgIGSTL () S(HE.

Explain the Array of strings with example,

M. Qs reapTed eraman 7

Define class.

95. Static grey 2 QIULSEETL L) TS5

Write about static Data members.

96.  Glewnanm Lenfll@ Ly GTGIMITE) GTeimenr ?

Define Function overloading,

97. o &dulle Ceweur@aer wrapay 2

What are the functions of constructors ?

98, wryflivgder Leeradr wreney ?

Write the advantages of inheritance.

29.  safluQuird sreurdsis CTGDTE) 6Tetme ?

Write short note on Data Digitization.

100. senfluQurf @mnmin GTEIMTE GTaten ? TCs@Ib Qurgiauren Qren® GHoiisemar

[ $5liys/Turn over



3133 22
L@GS)-111 / PART - 111

aGCasib 61 eNenmsseEnss WL ([Hib elenL_weflssayb : 7x5=35

Answer any seven questions only :

101. @@ VLT Bhoelllev @Il aiamsHd ereleury Qar@HEsriuc L R
Clzreverer sam@Giligss ANCOST®H Qerdars OTHmieUTs ?

How would you find a word and replace with another word ?

102. =L aiear augap L smelluUL e ulgidrar gCaaib Liss) Liewfl & @l serfl 6ot
Gewur@eemer afef.

Write any ten functions of icons in the table formatting tool bar.

103. sriy&seT GrAIMTE GTEmET ?  Sjeudenn DL eumans grafler eriiug
LwaTIBggIeun ratums OSgIssT_HLdr elersEs.

Define function and explain with example.

104. <1l euenamgsrafled QummaTsemer ereueummy CeriLimis elems @ s.

Explain about the inserting objects icons in the work sheet.

105. greysser euamssamer efleufl.
Explain the different types of database.

106. For L ddlen s Lemar emwiienL erwpd a@ssisaT_HLer efeufl,

Explain the for loo with syntax and example.

107. wdliy apeld i@mwssd LD THEssaT. HLar efeufl ?
Explain call by value with example.

108. speflssliul L QanéEp arammrd erenar ? gmeddsriL L QarsE peeu
eUETUNILLSDETET SFWampamer 6T (56

Define Derived class. What are the points that should be observed while defining a
derived class ?
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109. QaTR&SILC L Gleueflui® QumieusHE e QUL C++ Blradled 2_direr Genpsear
san®h G4 &5 Béseyb. :
Debug the following C++ program to get the given output :

$include<iostream.h>
#include<conio.h>
class base
[
PUBLIC
base[]
{
cout>>"\N Constructor of base class”:

}

‘base ()

{

Cout<<”\n Destructor of base class;
}

1:
class derived :: public baseclass
{
public:
Derived ()
{
cout<<”\n Constructor of derived” ;
}
*derived ()
{
cout<<”\n Destructor of derived”;
}
):
void MAIN ()

{

derived x(5) ;

}

QUTPUT

Constructor of base class
Constructor of derived
Destructor of derived
Destructor of base class

[ $l5Lys/ Tum over
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110. Gemeuamid C++ Fledles QeuafluSen_& sar(® Nq&salLD.
Find the output of the following C++ program

#include<icstream.h>
#include<conio.h>
class simple
{
private:
int a,b;
public:
simple ()
{
a=0;
b=0;
cout<<"\nConstructor of Class-Simple";

}

~simple {)
{
cout<<"\nDestructor of Class-Simple';

}

void getdata(int x, int V)
{

a=x;

b=y ;
}

void putdata ()

{
cout<<"\nTHE TWO INTEGERS ARE "<<a<<'\t'<<b;
cout<<"\nTHE SUM OF THE VARIABLES "<<a+b;

}:

void main ()

{
clrscx () ;
simple s;
s.getdata(5,6) ;
s.putdata() ;
getch() ;

-00o0-



